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M- M .2 (3H) - NEAMY - BES 0] AFoH IR
9,503,385 9,518, 167
=2 1,979,019 1,979,019
[= 311,539 311,539
Al 7,212,827 7,227,609
A= E 206,817 210,030
[ 21,099 21,099
Al 185,718 188,931
OIS0t FeAH4d 206,817 210,030
[~ 21,099 21,099
Al 185,718 188,931
A=y 29 137,177 139,700
201 L2 15,480 17,200
01 At 2t2lH 15,480 17,200
A BT (LAY, SHSY)
-1,720,0002 21,720 0
401 Al HI 2L 200 29,197 30,000
01 Al&HI 29,197 30,000
MMM (RIS XS TAH)  -803,0002 A803 0
3 18,390 19,080
[= 5,724 5,724
Al 12,666 13,356
402 DI2H K201 & 18,390 19,080
[= 5,724 5,724
Al 12,666 13,356
02 QIZIXF2 AL B X (O A THL ) 18,390 19,080
Wes - 22TY SYHOEXNEMNE(9S)
2 & 18,390,000 18,390 19,080
[=4 5,724 5,724
Al 12,666 13,356
X 560,509 567,809
[ 41,400 41,400
Al 519,109 526,409
2e 560,509 567,809
[~ 41,400 41,400
Al 519,109 526,409
EX =232 900 2,800
201 22| 900 2,800
01 At 22l H 900 2,800
(] &S AHOH (U BHA 2 HI) -1,900,000 A 1,900 0
S e 426,159 427,009
201 L2 3,310 4,160
01 AF2 22| H 3,310 4,160
WEHEM(AXR) -850,000 AB50 0
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ST 22 (EX) 133,450 138,000 A 4,550

< 41,400 41,400 0

Al 92,050 96,600 A 4,550

402 BI2HX=01 M 133,450 138,000 A 4,550

< 41,400 41,400 0

Al 92,050 96,600 A 4,550

02 P2 XE2ALEZ(0IETHR) 133,450 138,000 A 4,550
mMIAEE A2 SSFY 2l NSAY

& &133,450,000& 133,450 138,000 A 4,550

& 41,400 41,400 0

Al 92,050 96,600 A 4,550

HY2FZH (A=) 93,960 98,229 A4,269

Jl=&l 93,960 98,229 A4,269

Jl=Zl 93,960 98,229 A 4,269

201 LEt2E | 28,272 32,241 A 3,969

01 At 2teltl 28,272 32,241 A 3,969

(m] &) S &k A -3,969,000& A 3,969 0 A 3,969

204 MR F Y| 1,200 1,500 A 300

01 AR T 1,200 1,500 A 300

(] & 2 &+ ol -300,000& A 300 0 A 300




